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Instructions to candidates

1.

The rules for the conduct of Western Australian external examinations are detailed in the
Year 11 Information Handbook 2018. Sitting this examination implies that you agree to
abide by these rules.

. Answer the questions according to the following instructions.

Section One: Answer all questions on the multiple-choice answer sheet on page 9. For
each question shade the box to indicate your answer. Use only a blue or black pen to
shade the boxes. If you make a mistake, place a cross through that square then shade
your new answer. Do not erase or use correction fluid/tape. Marks will not be deducted
for incorrect answers. No marks will be given if more than one answer is completed for
any question.

Sections Two and Three: Write your answers in this Question/Answer Booklet.

When calculating numerical answers, show your working or reasoning clearly. Express
numerical answers to three significant figures and include appropriate units where
applicable.

You must be careful to confine your responses to the specific questions asked and to
follow any instructions that are specific to a particular question.

Spare pages are included at the end of this booklet. They can be used for planning your

responses and/or as additional space if required to continue an answer.

e Planning: If you use the spare pages for planning, indicate this clearly at the top of the
page.

e Continuing an answer: If you need to use the space to continue an answer, indicate in
the original answer space where the answer is continued, i.e. give the page number.
Fill in the number of question(s) that you are continuing to answer at the top of the

page.



Section One: Multiple-choice 28% (50 marks)

This section has 25 questions. Answer all questions on the Multiple-choice Answer Sheet
provided — page 9. For each question shade the box to indicate your answer. Use only a blue or
black pen to shade the boxes. If you make a mistake, place a cross through that square then
shade your new answer. Do not erase or use correction fluid/tape. Marks will not be deducted
for incorrect answers. No marks will be given if more than one answer is completed for any
question.

Suggested working time: 50 minutes.

1. Which of the following statements about subatomic particles is false?

(a) Protons and neutrons have approximately the same mass. oo b L 4mu.

(b) Protons and electrons have equal and opposite charge” +/ v& —I

Protons and neutrons make up most of the mass of ofanatom. v~ Sme eleehrors ar? yelils
Protons and neutrons will be equal in number i m&any eutral atom. /j’g r

SZ@/M bt niv ﬁﬂ/? r‘/)

2. Two atoms, Q and R, have the electron conflguratlonand 2 8 8 7} Which of the
following statements is true’? X s - Jone ok
by (on1c Q‘rm«?w Z- W{ ﬁf v 7 - “f

. The compound form formed between Q and.R is likely to have a high melting point. e
(b) Ris likely to conduct electricity in the liquid state. X (WW el

(¢) Qand R are unlikely to react with other elements. X W nible g 7)
(d) Elements Q and R would form covalent bonds with one another. x /o7v7¢ .

3. Which of the following solutions is likely to have the hlghest pH?

s o A

) Yl
1 mol L' NaOH(aq)Shrong st ot beare 1 @7 .
1 mol L NHs(aq) weat bael o [hves
(©) 1 mol L' Na:COs(aq) wente brot
(d) 1 mol L' CHCOOH(aq) wpate at1¥

4. Which one of the following best describes the molecular shape, polarity of bonds and the
molecular polarity of a CC{s; molecule?

Shape Bond polarity | Molecular polarity | Zfzg’ /% #
(a) tetrahedral v/|  non-polar x polar [ (
(b) tetrahedral v polar polar ‘

pyramidal ¥ | non-polar X polar o ( T
, tetrahedral v~ polar non-polar 5(:/1 C/ A
WMW {km&w ol

oL  hipaw p (e

&!@M@%W{ | um.l/d! éﬂ;% C’”a bond 2/7 /) 4% fZéf
o o [ b more 2 /Ajﬂ v
0 N o




Jore /Q’/ n One
4 g\pz}// i (2

s

5. Which of the following common substances can be described as a homogenous rfmxture’?r

J roe /A é
(@) Concrete Xr / 2 ’J ’/W/’ o /) /e // Y i hids spme. Ih (// Lo
% Limestone x ﬂ\/ /% //V"7 k«ﬁ M/”"//&'/(
/(c) Stainless steel v~ y )
@ Copper ¥ 27 /Aw it at
Z/ AP /////f ﬁ/[ﬂ/r! /lﬂ//&?/ /I/ //, u ,7,

/ ///'i“/jﬂ ;,i"‘,’;(,’y .V '_, ¥ f‘iﬁ / /
6.  Germanium is an element that exists as a covalent network. Which of the”followmg
N a? e SR
statements best explains why germanium melts at a high temperature (938°C)?

(a) There are strong electrostatlc attractions between germanlum/béand delqe‘a’l’i.zed
electrons. X S g [he G h’;.if / \ ’
7 (b) There are strong electrostatic attractions between germanrum atoms and shared
‘ pairs of electrons. \//ﬂ Wbnibion K (walt baol)
(¢) There are strong intramolecular bonds between oppgsﬂely charged germanium
io)(s. Il [ONIC
(d) There are stronginte/rgwgleeular forces between germanium atoms.
W/{ u/.f /wﬂ/« o n// /fw i

7. In which of the following experiments would no visible observation be made?
//Zr ble. o
(@) Solid potassmm nitrate is shaken with distilled water. X 2/50/d / /ﬁ)
(b) A small piece of sodium is placed in water. ¥ /7zs /1 /&w//’!/f bt e o o

(c) Solid calcium carbonate is added to dilute hydrochloric acid. X 47 /v /lf ) bir fﬁt
Ad)) Sodium carbonate solution is mixed with ammonium nitrate solution. *~
Synce yo;,/_/r/&m mbate yZ7% f/ Conim o bvn—
é‘/,y/»y;qﬁ,i'(f ar e ;Z;;’,);fa S ") %9 / le
8.  Two solutions, A and B, have a pH of 3 and 6 respectively. Which of the foIIowmg
statements about the solutions must be true?

(i)  They are both acidic. v~ Spce /ﬁ< 7 fed
(i)  The concentration of H* is higher in B than it is in A. X S4¢Z /K/Wn/ ///,(//;m

S

(i) B is a weaker acid than A.~ %,ﬁ/ﬁ /«'/ é/, ~/ﬂ/"”
~ I 2. s ¢
@)D (i) only /{” WA Eh ér??l&f' ) ke
(b) (i) only ' //’/{/,” H ize /WN:/ ¥ ¥ e rC,

(c) (i) and (iii) only
(d) (i), (i) and (iii)

> In which one of the following is more than one type of intermolecular force acting?
/
noh — //M" - /)///' In/ W Orét)
Bras)— 0/ % 4
Ab)) SOus)— o o e
C) CH4(S | é(g//( / - ‘»"/")‘J/v//‘"""" - ﬂ/(f_/’/’r"’ vJith v//?“/"(' P e ¢ ‘
(d) COus) 4 / /
D=C=0, 3\
D=c=0 ; y |
: /€ 'g/f whedlral — /?/34 1 /xr *&’w‘f peviids o \,,/

V)
¢

Z///;//ﬂ/ — Nom \/;,//M - A/:,;;/ eviren o J



10.

11.

12.

13.

14.
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Which of the following lists of oxides would all produce alkaline solutions when dissolved

in water? /g’ boore g dea
(a) Qéz, Si6s, Ca0 @i INETIE- oie el

(b) CaO, NaxO, Py
(1) K0, Ca0, Naz0

(d) P;@w, S@z, C02 ) .
A IO talited o Gl by ety

Ammonia is classed as a weak electrolyte. Which of the following statements best
explains this? T ik o 4wt
Wﬁfmﬁ/yw
@) / Only a small proportion of ammonia molecules will be form ions in solution. e
B) The pH of ammonia solutions is quite low compared to other bases. X Frne y pnk dozae?
. . b . WD
() Ammonia is not very soluble in water. X (52 / andl |yrefevet N
(d) Ammonia is a covalent molecule, so its solution will not have any ions. ¥ Wi erittr ApE

Covaltot , ool 5{..4&;/? ’
Jvocteid 3 1 S
Which one of these molecular chemical equations correctly shows the reaction

(including state symbols) when dilute solutions of sodium h)/droxide and
chloride are mixed at 20°C? 7, N

(Hew) Wiy ™ gmea N ¢

NaOH(s) + NH4Ci(aq) —  NaCl(aq) +  NHiOH(aq)
7(b) ) NaOH(aq) + NH4Cl(aq) - NaCt(aq) +  HO() + NHs(g)
c) NaOH@) + NH4CH() —  NaCl(aq) +  BEY)  + NHs@)
(d) NaOH(aq) + (NHCl(3a) > NaClag)  + HO(@ + NHs(g)

Mig777
In which of the following equations is waterﬁgwtiqgwgﬁggqu? // V';y /5 /!7/% Jon /o

o Dt A,
(a) 2K(s) + 2 H0(¢) > 2KOH(aq) + Ha(g) X opudhee Sf

/@ NHa(@) T H20(6) = NHi(aq) + OH(aq)

(©) HCOs(aq) T H0(¢) = HCOs(aq) + HsO*(aq) x

(d) HCu(g) + H0(¢) > HiO(aq) + Cl(aq) X

Which of the following statements is generally true of elements in the Periodic Table?

(a) lonization energy increases down a group X Atvenies
b) atomic radii increase across a period X AZcvesiee /

c’)} group 1 elements become more metallic as the atomic number increases

“(d) electronegativity-deeteases down a group
fe )
@%z&mﬁéd b Inceenses \ I o] /L? ﬂm&( s

Jrév ’h) e’

(o 1F
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15.  Which of the following reactions is endothermic?

Bra(g) > 2Br(g) Bronte g oo
(B) Nz(g) > Na(£) X /o //wr/, 7

(c) CHa(g) + 202(9) > COu(g) ¥ 2 H0(g) ¥ (O //w/m / |
(d) H'(aq) + OH(aq) > H20(¢) x 5 1o P /é"u M/,,Wﬂ,/,’,,’ﬁ//m/.

7/’1&,//

16. Ethanol (C2HsOH) has a borlrng p0|ntjust over 78°C Which of the following statements is ;
true? }//’rf” b, /. // Vi Whdim ,/; 6 — Yhnery Ao @V/’/ vat e ) -2

-"i‘r.”’ _ ,) /,; v V/
(a) Ethanol h?s stronger intermolecular forces than water. X 2zl

(b Addlng an impurity to ethanol would make it evaporate more quickly. X
/

/ The vapour pressure of ethanol at 100°C would be greater than that of an aqueous
solution of sodium chloride” — mpPave  yatber — ool ﬁmr //~ Yor / San hates
(d) The bonds in ethanol must be weaker than those in water.
/" ,"/' /’.’,f’ ) ,a,‘/}[' / A

17.  In which of the following pairs are the two substances shown isomers of one another?

jFCs G 4L«

(@) heptane and 3-6thylhexane X%
(b)  1-butene and methylpropane ¥ (o /e vs Loty
(c) 1,2,3-tribromobutane and 1,1,2-tribromoprop-1-ene* 4/~ v* SC¢

(d) ) 1,2-dimethylcyclohexane and 1 octene v >
Cg/%//, O K,jui

18. 10 g of argon gas is placed in a sealed syringe at 50°C. The temperature is lowered to
25°C, and the syringe compressed to half its original volume. Which of the following
statements is true after the changes are made?
ﬂw/’* A ELHGE pecd ll wits f/rzw b cles pmow) move Lagh '/)

(Ef e argon particles are nﬁovmg more slowly, and the éressure |n3|d the syringe
has dropped.

(b) Some of the argon particles are moving more slowly, and the pressure inside the
syringe is unchanged

A\

(c) the argon partlcles are moving more slowly and the pressure inside the syringe is
___unchanged.
(( (d) ) Some of the argon particles are moving more sIowa and thepressqr&eﬂinsige the
syringe has risen. /[ Vl%” we Shomld | DOWBLE P sk songlowit —

D ,’/ -
/L/” I ad

WF /;?/?/W/} BL? Tk = 244K } Toi ,U ) chanld HALVE F at (myhnt
19.  Which of the followmg aqueous solutions contains the greatest overall concentration of
ions?

0.50 mol L' lithium sulfate 27y SPy — 3/ms ; wvevatl ¢one = 2x 95 vV
(c) 0.25 mol L iron(lll) chioride  +#2 Cly — 4 1ms drad] tone = 4 x 02 X
(d) 0.50 mol L™ sodium chloride ol — Liom J et Come = D x pof X

~ o /, P f 2 — v
& 0.25 mol L' calcium nitrate (4 //%: ) <3 mi / el eme = Bx 02F X
(b



20. What mass of copper{ll) chloride would need to be dissolved in 500 kml__ of distilled water
to produce a solutior/ with a concentration of 0.0500 mol L'?

S
2479 k/%w 4755 JoS mil 1a L

) 3.36 . o,
(c) 4.953 M Sy 0025 mil m VL
d) 6.729 Haas

meng /W 005t By

21.  Which of the following pairs of substances or ions can b%wc:ﬂt)e(j asa CO,QEQEE,EEH
according to the Br@nsted-Lowry theory of acids and bases

0 Hseandhs ¥ \ A Y
(i) H2SOs and SOZ X /ZWV Atter 7 2 A7
(i) OH and 0% v~

(iv) HCOs and H,COs v~

(@) (i) and (ii) only

(b) (iii), and (iv) only
@ (i), (iii) and (iv) only
(d) (i), (i), (iii) and (iv)

22. In which of the following substances are there no covalent bonds present in the solid

lattice? Sl b nee o mlletlie

(@) SO, w (Hulent % - o b il
(b) Sr8203 K — (e bk~ < 2y fowm boiwd Covifent bl

(C Si0, X (rvedent nebrock
Y SOV Jpmae

23. Aluminium is ductile and malleable. Which of the following statements best explains these

r ies?
properties 100¢S 10 a mefeltic bt
(@) The forces between aluminiuw@gre weak, but can operate over relatively long
[l pmet  distances.
%\«ﬂ/"ﬁ 1w (b)  Aluminium ions are bonded in layers, with strong bonds within layers and weak
ﬁ&éﬁ?fz@wigﬂ jr+*7  forces between one layer and the next. x Siswslt [1AE praplie
2 %M@fﬁ(c) Aluminium ions will atfract one another regardless of their orientation, and so the
o bonds in the metal lattice will not break when it changes shape.

Delocalised electrons are able to move freely amongst the ions, meaning that
metallic bonds are equally strong in all directions.
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24. Copper(ll) sulfate pentahydrate (CuSO4.5H,0) has a solubility of 320 g L™ at 20°C. A f' v
saturated solution is made by dissolving 400 g of CuS04.5H.0 in 1 L of distilled Water./(' @7 wWe
The mixture is then heated to evaporate some of the water and cooled back to 20°C.
Which of the following statements about the resulting mixture is false?

‘ There would be more solid present than in the original mixture. v
,7(’@ The concentratlon of the resultlng squtlon would be hlgher than that of the orlgmal
solution. X (MM@ntraton Hefer mmee i// $he '1”/\/']/ andl T hoa not che 'Qt7""""~
(c) The solution would be blue in colour / C /, /
(d) At least 80 g of solid could be recovered by filtering the mixture.

25.  Which of the following statements best explains the effect of an increase in temperature
on the rate of a chemical reaction?

‘ Increasing the temperature increases the average kinetic energy of particles, P
meaning that the fraction of collisions exceeding the activation energy will increase. v~
(b) Increasing the temperature causes the particles to move faster and collide with each
/7 ) g "/
other more often. “/yu¢ | jut Mmmor Cétect.
(c) Increasing the temperature increases the average speed of the particles, meanlng
there is a better chance of them colliding in the correct orientation. X /fmf alfe F l/"f
(d) Increasing the temperature causes the activation energy of the process to decrease W i/ el
' o fed
meaning a greater proportion of collisions will lead to a reactlon/ Ave Iiéu [ ,q

M ONCr
1 aftwctee / @
//M/’ NfFtectég

ri
//ﬁj}

( fnct z&?j shve)

AT

Vi % Ny £ i B i ‘
Y / » J 1L D°C /({/)y v’v'//l’/* ' )
2 [/f‘ 0 ﬂ/‘(’)’?/% VY/// net~ (115 /W/( N // @ y y M/ -

. 1 b S
VN w yihvme ol be g s

0 o /) f " L = 5
WY Y42 el B 20°%
0 9#14% 5 oA L/m / 5209 vl otISive (& ¢4
/L, Ot
/

End of section one

-

\ o I/ s / 2t 100 A g)/) a / ;1)/"",~‘/’ /
ol mikpee bl (onbe bg o Sitn:
0 e ﬁ/r//;/“f/ mi / / o

J / 2 / 7 O/A,w N CAFEf
v hwe ﬁ'r‘"’// (mAieain O ( )i"' o /

pove ki v

// /| ./ Ly ,‘1,,';’-“ '/’/'; t )w A /f/j b/)
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Multi-choice answer sheet

Mark one response per question with an
¢‘XQ,
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Section Two: Short answer 39% (70 Marks)
This section has 11 questions. Answer all questions. Write your answers in the space provided.

When calculating numerical answers, show your working or reasoning clearly. Express
numerical answers to three significant figures and include appropriate units where
applicable.

Do not use abbreviations, such as ‘nr’ for ‘no reaction’, without first defining them.

Spare pages are included at the end of this booklet. They can be used for planning your

responses and/or as additional space if required to continue an answer.

e Planning: If you use the spare pages for planning, indicate this clearly at the top of the page.

e Continuing an answer: If you need to use the space to continue an answer, indicate in the
original answer space where the answer is continued, i.e. give the page number. Fill in the
number of the question(s) that you are continuing to answer at the top of the page.

Suggested working time: 70 minutes.

Question 26 (6 marks)
The following question involves naming and writing formula of compounds.

(@) Complete the table below by writing the formula of each of the compounds listed. (3 marks)

Name of compound Formula of compound
hydrogen peroxide Y4 0
// 4 '7:'£{ /jﬂ;’)‘.r‘ . )
chror?u:p"l(lll) brorpqu é% / ;o
aluminium carbonate /% f%:“ /\ )
N 19D 2 - ) - 71 [ f 5 { 2 [ o
/jv/ 77 ((;)‘3 " /2 X //jf
)
X L X5
(b) Complete the table below by writing the name of each of the compounds listed. (3 marks)
Formula of compound Name of compound
(NH4)2804 / / W mon 2}] /ﬂ;/?;f; re
SFs \ ; f"'// ‘ / 1oy 1e{L

) A 1d V'

crct W/// //:,7;‘,/ D ml /bl
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Question 27 (15 marks)
(a) Draw the full structure and give the [UPAC names of four non-cyclic isomers of CsHaFo.

You do not need to draw all possible isomers to gain full marks.
(8 marks)

Structure I[UPAC Name

F f

] o
C=( — (/ oy / p [ ~dillpeoce /Wa*fﬂi?
[

F

Wa / 7 - // 9 W loro /}yﬁ/y”@ﬁ”?

Fws - I, 1-00 Pacorvoprpon

O/ - //5 _ ﬂ//lﬂﬂ;mm N

hos — () 3-alAecuprap e

/ Iy I ARV

\ 7 - ‘y/ s ot RO Bl
(= (N 38 "74’/5”4”7 /)

bﬁ// NOT hnaed o /?/f/w/ J-tne [0 f/?;ﬂ P

. 7 7
e has gurkalos oo se.

i '
' 1‘/7‘/;/,5{ 552’ L4

/ ” f/ §/¢
7/

O /@Lﬁu@/’ij % ﬁﬂ%@/f avé /éﬂ/ﬂ (9/( In /f?ﬁ‘j / G / f
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(b) State the IUPAC name for each of the organic compounds whose structures are
represented in the following table.

(2 marks)

Structure IUPAC Name

Cl

VT
//ﬂ /?/‘/ﬂ Dty e

\/\3

B \.\‘ S/ b ‘
H/ ‘: {)// 0///// ()/iy/j//ly‘/’

oo

(c) Explain why 2-butene is able to exist as geometric isomers, whilst 1-butene is not.

(3 marks)
© {/“/ U/ . V.7 // ( {/‘/, ’// i«"f’(" //5 I 7// 5/’\/ (’/ ne //7
[ B 1/6 Vs
Iwo oot oonps attacted b oach  Koe
Vi 7

/1 / / / ; y

alh ( / wh r/’// /

7

/ %/M %//( 4 /(/tJ %/0 )' J //T/7,Zj/ AP // ,/7}/ // O

/
M\

(d) State the intermolecular force(s) in the first Compoung/. i // @}

/ (

. | |
,é OpYsSion  + OUpild —oljpdle

/// [s#]
)

.//

(2 marks)

/ ¢ /
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Question 28 (9 marks)
Two substances, X and Y, react to produce Z according to the following equation:
2 X(g) + Y(@) ©> Z(g) AH=-100kJ mol”
It is found that the activation energy for the reaction is 200 kJ mol™.

(a) Using the axes provided below, sketch the reaction profile for the reaction, assuming that
enthalpy of the reactants is 200 kJ mol™. Ensure that you provide a title for the x and y axes

2 %fﬁ%/mww /%)(A ”%ﬂ

in the box provided, and that you label your sketch clearly. (4 marks)
450
400
350
300
250
y-axis label
?[ / - 200
A /?Z/ &5077* \
ey é’;f 150 I I \
100 \/ o
50

i x-axis label
7 / ) ,w 1) 57;/@1[%/ ﬁ U ﬂ/;/f/a /\/gﬂ Lo
V.4 / %}/{f /:/-, fe {:7 b7 /[ﬂ/ ( /jyﬁ;jg h é’:/ ¢
/ e 0/ d / M}’ / _
g [f? A J// [J e / / ol 5’5«'/‘/ | //K 57 ///%Q
(07 velth

0 f?/ o4

/ ﬁ/é @’/X/%/ /ﬁ/ﬁ%/f;/ -
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The reaction is carried out again in the presence of a fine platinum mesh. The reaction is
observed to proceed much more rapidly, and the platinum is found unchanged at the end of the

reaction.

(b) On the same axes as those used in part (a), add a sketch to show the effect of the

platinum. Label this ‘P

.

l 1//
j/

/
f’,',"" Vg
vy v

(1 mark)

(c) Use CO||ISIOn theory to explaln the effect that platinum has on the rate of reaction. (2 marks)

/ 7 s o Q ;’ ',a mahve VA O /,/4 /{ Wy Y
t by 5
o Wk a7 / , v /| ///f Idivhd

: ,

.

0 & VOAEr Yoo h o
[

/

(d) State and explain what observations would be made, regarding the rate of reaction, if the

reaction were carried out again using platinum beads instead of the fine mesh. (2 marks)
Effect on rate .
. Explanation
(increase, decrease or no change)
/ e /' ,
dletrewed 57 / 4
P A
v / 0 ,/7 { //’l M 10h / i
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Question 29 (3 marks)

Complete the table below by writing the electron configuration of the atoms or ions listed.

Atom or ion Electron configuration

A sulfur atom

. o
goed Ao ] / o// b

/
The NZ;VQhavrde_laon of the element 7 o 07
in group 16, period 3 S N/ {/
An isotope of nitrogen whose - -
nucleus contains 8 n\Futrons wz / 57

Al
Question 30 4 P (4 marks)

Iron exists as four naturally occurring isotopes. Considering the lightest of these, %Fe:

(a) how many neutrons are there in an atom? (1 mark)
| = ¢
(5 —26) = 9¢
N /
(b) what is the mass number? (1 mark)

so !

N a4
ﬂ Z/\ /.\?//NV%:}
Carbon forms numerous oxides and ions containing oxygen, such as CO, COz and CO#&/.
(c) How many protons are there in a molecule of CO,? }}/@z’fi (1 mark)
2L
(d) How many electrons are there in a carbonate ion (COs*)? (1 mark)

32 (24 valence electrons, but question does not ask for valence electrons)



iwantp
Text Box
32 (24 valence electrons, but question does not ask for valence electrons)
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Question 31 (4 marks)

For each of the species listed in the table below, draw electron dot diagrams and describe their
shape.

Show all valence shell electron pairs either as : or as —

(for example, water HOH or H—'Q'_—H or H—O—H )

Species Electron dot diagram Shape

)

it W—C=(-H [ ea-
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Question 32 (6 marks)
Account for the following observations.

(a) The temperature of water in a beaker is observed to fall as the water evaporates.
(3 marks)

i utoles mal Mily Jo edizoe P Corfare g

2 i Dioe b mat é/?f / . s |
V) // Sy o /ﬂ/f//// g@ /»j/w; ,/i,g L/ /g/ ; b
! Lot 7 A ’ d

%/23%
””” //’“ Wovrts e ) S /Fﬂf\ v Ea ﬂ/g/ hlgrt P H L

/ i ‘ ° i
/i?f”f/ S ,LM”, u? »2}/ é&/ /;* ol DPoviiid £ % Vi éy@gﬁ/féz@ f

F T
ﬂfmw ﬂﬂfj o k /i )‘3/ (’éi/

(b) Copper is an excellent conductor of electricity in the solid state, whereas solid copper
chloride is an electrical insulator. (3 marks)

7 %/%ﬂ/\ /‘/77/}/}07 i c/,gr/ /ﬂ”ﬁ%‘f@/z/(f’\ /ﬁ%’(% /Zfﬁ//ﬁ
W/ﬁ/”f//f’”’f/ /// °r Ly ol /A/g/ (G ﬁﬁi\i;’;i //z;//?'q;‘“(j o

Ry

e

/ ot ohfpide s JONIC , and St fnd g
J f%@% /f/z// //"/ <K /%/Hf? g‘ly/f/i ﬂZK/Z{j e

7 ﬁﬁ Vi f%///ﬁ ﬁ%”jﬁ?ﬁ/’ /éf/xw’;t/ﬂw 0 #9 /h/&"@”’/ﬁ’%ﬁv . /
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Question 33 (9 marks)

Give balanced ionic equations for any reactions which occur in the following experiments. If no
reaction occurs then write ‘no reaction’.

In each case describe observations such as colour changes, precipitate formation (give the
colour), or gas evolution (give the colour or describe as colourless) resulting from the chemical

reaction. If no visible change occurs then you should state this.
/\/{g\‘,“ P //'fl\ j,‘"’ (L /'L

(a) A spatula full of sodium sulﬂﬁffe is placed in a test tube of dilute nitric acid. (3 marks)
/7/ y 24 a /2 ~ 2 _ - (9 ‘/."/ re
Equation o, 0 ¢+ 2HNy — Q/Vz?/’t/:: 3 7 ///7/ 0 / //, O+ 2H7 - ;"“//AV'}F‘ 40

la, . A ,
Observation W, L L1e / é’/// JS /)/// L1 Ik /! / Y Sdiubtd—

Qv mg "// ’/"" U S hiet.
J S

(b) Silver nitrate solution is added dropwise to a beaker of dilute hydrochloric solution.
(3 marks)

s

v L A
Equation ///]x # ///é( — ///1/(7, + 4 U /’ +UA —> /4%7@

— 7 ' ,
Observation /) 0/ /v J"/J///f ) /Q/"//@,/;f» 74 /z//[ / ¢ Q,a‘r// M A
7 7

Vi
A !
Off, 1, 1
0 '{fuf!,gf'/?' Jh

I

(c) Bromine water is added to Propene (CsHs). (3 marks)

Equation C( / // + oY, / /4 U/
/ /// A s /o //J

/

\\

Observation [7,’/ ¢ $olu //( N /'

!
\

,,N
-~
N
o\
&
°«
.y
Q
\\\"
™5
2
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Question 34 (4 marks)

First stated by Joseph Gay-Lussac around the end of the 18" century, Gay-Lussac’s law states
“the pressure exerted by a gas in a sealed container is directly proportional to its temperature™.
In common with other laws stated around the same time, Gay-Lussac’s law works well for so-
called ‘ideal’ gases, but there are conditions under which real gases do not obey the laws
particularly well.

(a) Explain why the pressure of a gas should increase as the temperature increases. (2 marks)

72-/’ e, f//?? whot ;///Wf //J'VMMM,,

[« Ll 5 he /@%//?w 2 pove //2/{? h//ﬁ hesred e

= ﬁ//’? ol f//\/w/% 0 et fo ﬁwf/w/m e e

colliddsg wih ha (adameor halls ! prove Gee |
v

(b) Give two reasons why the behaviour of real gases deviate from ideal gas behaviour.

(2 marks)
Hod g fassssphers)  foed _Ga
0 %w///ﬁ/ﬂ/ /ff////{//z y7i) [/f/mw Z. & /ﬂf/ﬂf’,z{// /)@ ///ﬂ //‘//[/ /?}/,/5/? /

b /47»% el de Pkes /ﬁ/&/ﬂj f/@ /i //71//54// A e
%//&/ am. oo ﬂwf/fwf e //’”/ﬂcmﬂf | ,

0 / it ane /ﬂcﬂ/ﬁ/ﬁ{ / g 0 ﬂz/z«f; b o f/mw f/ fie /
Hashe C/jf{%/f%’} .

w7

Question 35 (4 marks)

For each of the following descriptions, give the name or formula of a substance that matches the
description

(a) A weak diprotic acid. ZA/{(Q //’47/3 cf@g @/c

iz S
e / " n / /
(b) A substance that has ionic and covalent bonds. /é{%i K’ﬁ/lf’ﬂwﬁ fo -«ﬂ/}‘ fﬁ/ﬁ; (%%
(c) An acidic oxide with two oxygens in the compound. CD /% //M é/]/;_

o, @/,//%)
W/%’W/ FW’W’
%7/////}{ ﬂf /pﬂ%(/é/{?/&j?c

o

(d) A branched hydrocarbon with the formula C4Ho . /E’/M [X?,/z’f
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Question 36 (6 marks)

Two analytical methods used in chemistry are Chromatography and Mass Spectroscopy.
A drop that contains a mixture of amino acids was applied to a Thin Layer Chromatography
(T.L.C.) plate. The plate was placed in a solvent G and the following chromatogram obtained

B C

"""""""""" 7%~ "~1solvent front: solvent G

56-58 mm

. T
I

application

point of drop

chromatogram I

(@) Calculate the Rsfor spot 1. (2 marks)

39/57 = 0.68 (allow answers in the range 38/58 = 0.66 to 40/56 = 0.71 for two marks, or
any correct use of incorrect measurements for 1 mark)

(b) Which amino acid is attracted to the mobile phase the most (circle a dot) and
explaln why you chose this one’? (2 marks)
A,/ ()f -/ g‘/ '“”,,,,\4'; // ,//w v/ ;f // ” / ,;// /\(/ ‘./\/‘ r‘, /r /’._"{ A
/e ' /

7 '] ’ ) " /
LS Solvea //r /’::‘(J, C,‘//‘/' / (y/

J L

Inle Mk
(c) In Mass Spectroscopy vﬂnat/two factors(wnl determine the amount of deflection?
4 /( /
/w Nz of 10
]
/ j’/)/ /7 /“ / / (// / N /’"" :,“" / (2 markS)

End of sectlon two


iwantp
Text Box
56-58 mm

iwantp
Text Box
39/57 = 0.68 (allow answers in the range 38/58 = 0.66 to 40/56 = 0.71 for two marks, or any correct use of incorrect measurements for 1 mark)
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Section Three: Extended answer 33% (60 marks)

This section contains four (4) questions. Answer all questions. Write your answers in the
spaces provided.

Where questions require an explanation and/or description, marks are awarded for the relevant {g
chemical content and also for coherence and clarity of expression. ;F o OF j

- —— [
Final answers to calculations should be expresseg/fb“‘three (3) significant figlﬁ% . I3

.
—

Spare pages are included at the end of this booklet. They can be used for bVl»anning your
responses and/or as additional space if required to continue an answer.

» Planning: If you use the spare pages for planning, indicate this clearly at the top of the page.

e Continuing an answer: If you need to use the space to continue an answer, indicate in the
original answer space where the answer is continued, i.e. give the page number. Fill in the
number of the question(s) that you are continuing to answer at the top of the page.

Suggested working time: 60 minutes.

Question 37 (25 marks)

Chlorine is an element that is found in several acids. The acids are shown in the table below.

Name and formula of acid Strong/Weak
hydrochloric acid
HCY strong
hypochlorous acid
HOCY , weak
chlorous acid
HCO, weak
chloric acid
HC(O4 strong
perchloric acid
HC/O. strong

(a) The pH of a solution of perchloric acid was found to be 2. What was the concentration of
the solution in g L™'? (3 marks)

yﬁ/ { 2 /? Jh bt p’/ ?;/ = g0 ,fi ﬂw// L -/ /

7 7 <7 7
;’]/V ﬁlfbé’d //’L(/ (K?/ / X D / ﬁ,mkg;‘fj = / ;5%/ 7 // \/
J 4 L~ 7 7 =

s

m o= neM = 00 X//‘ng’ ?Sfﬁ/ﬂ%fi) = /vﬁaj/;m/ /
/0057 ‘ /; p{
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Question 37 (continued)
Hypochlorous acid and hydrochloric acid are both formed when chlorine is dissolved in water.

(b) Write the balanced chemical equation for this reaction.

Cl, + Hyo — Moo +HU Vi
L [~ ;

(c) Draw the s't;rrijcturéiraiagram for hypochlorous acid and use v/ect\o{sf to show thé/pélarity
)

(2 marks)

fjl wﬁ the molecule.
\ Ot ~ Y ’ 21 (2 marks)
Yo'l &
y — ; Allow this representation for 2 marks
(5*/ %/f’ 0 e ‘ | J - the molecule should be be_nt, and
' e the chlorine will be positive in
relation to the oxygen, but this is not
required

(d) Using appropriate equations to illustrate your answer, explain how you would expect the pH
>}r' of a 0.04 mol L™ solution of hypochlorous acid to compare with the pH of a 0.01 mol L™
solution of hydrochloric acid. (4 marks)

ol + s — 04”707
o / /// ) //(0 ‘:f’:ﬂ;\ /() / e . [_T/’f’

/ %f/ l A / /;, (‘j .. C(’ﬁ . -/ ///; }') 3 |

AP ' , [
o M e AL o] _ "‘ 4, -/ | M - 2 v
o/ /7/// f'/ 15 2rygnr9g / /‘//{/ - / [7/7 //illrﬂ,/i/‘/ , Wi yZ /J)/ / = 5
— . ]
}/

|/
J ! / , L et
- /;///2/ 7 : / ~ ‘//;67,/ ", ij P ’/

/

~ — ‘A , “/ / ) ;';'ﬁ }(‘” % 4
it ¢ 60/ mil L , q //” o
\ /

N/

[ |

,‘ /
/ s /,‘/ Y78
Yl  HOUL S wéare y [TT )


iwantp
Text Box
Allow this representation for 2 marks - the molecule should be bent, and the chlorine will be positive in relation to the oxygen, but this is not required
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In an experiment to investigate the reactions of hydrochloric acid with metals, a student decided
to react the acid with zinc granules and measure the mass lost over a period of time.

(e) Write a balanced ionic equation to show the reaction taking place.

W v Tn > I

(2 marks)

ad, + 4, T M I s B Y, “

In conducting the experiment, the student measured out 50 mL of 1 mol L™ hydrochloric acid
using a beaker, and poured this into a conical flask. She then placed the flask on a balance,
together with an excess of zinc in a weighing boat. She recorded the mass, then added the zinc
to the acid, and placed the weighing boat back on the balance. She then recorded the mass at
intervals until it seemed the reaction had stopped. The student’s results are displayed in the

/il / 5

table below.
Time /s 0 10 20 30 40 50 60 70 80 90 100
Mass /g 90.00 | 89.89 | 89.80 | 89.70 | 89.62 | 89.56 | 89.52 | 89.50 | 89.50 | 89.50 | 89.50
Mass lost/ ) p ) .y
ToTi 1 o | o ) (020 | 920 | 038 | 0y 4| 050 | 050 | 050 | 0.50
(f) Complete the table by filling in the missing data. (1 mark)
(g) Graph the data on the graph paper below, labeling your line “1M HC/(". (4 marks)
1 »//- = AY ] h¥) A
D ) det A A \
_#]
K 7
b T
- !
»\Sib S // '/)
A L R’E}i 2 ﬂ 7
I \Y ,
S N =T
% ,
D‘(]/ / \ w/f 1 § %
/
/ L ’ . “L
/ ;;;"7 / =
b b
/ |
/]
p 0 w2 ki D 4o, 70, U G0 [0
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Question 37 (continued)

(h) Other than by repeating the experiment, state one way in which the student might have
modified her method to obtain more accurate results. (1 mark)

, /,v ", /
/ // // od 1 /'/// h / DL /’;’v' i~ VAN Ly
//'y ) S ] oy s .
/) ////’/r/ COf1c* // a0k h) pron e /;7,&;;" ¢ Sproy
/ /
g o o Lah /
/ﬁt b Swildhle M éponves

(i) With reference to collision theory, explain the shape of the graph between 30 seconds and
70 seconds. ’ (3 marks)

-7 : 4 - 2 /[
//ﬂ (ale K roncho 15 SDw 4 g ok -
w4

” / 1. /s - 7/ vor 2t / ’
//% Uand  Pobcll ne 1 dling pd Waltwds ave
/i I // / //' /
[%/(/ Jmt A / /// A, /ﬂ’ v/,;,f {/( 70/ 7 U ,/ VMLt //
- 7 7

/)

/I‘;/;. | 4 \ ¥ L/‘j////ﬁ “\ /’r"ff\‘.’ \I j/j ( // (8 /ﬂ/ L//

The experiment was repeated using 50 mL of 0.5 mol L™ hydrochloric acid.

(i) On the same graph used in part (g), sketch the results you would expect using 50 mL of
0.5 mol L™ hydrochloric acid. Label this line ‘0.5M HCﬂ’ (2 marks)
// ) S’}’*y/," ) 4 / & 7 / IR L s /’i‘j&? / -
Z 7 / F
(k) State one factor that was important for the student to control in order to obtain valid
results. (1 mark)

) L 0 P ~ {‘ / 170 » t, "’. y 7.»v'w'ﬁ Vi 7 7 / ] / /
/ Qu € /] Jk d) {41plaly  [On /d (‘)«,C'{w,/.u/‘ VL q h7 Mot ya re ... /

ma

\?\

%

7
</

) . . /,-/ ,:' {w/' /(//"/ ; (
§ /o Ul o2



Question 38

(13 marks)

Year 11 Chemistry students were given the task of identifying three white powders, sodium

carbonate, sodium chloride and sodium nitrate.

A 2.00 g sample of each white powder was completely dissolved in 100 mL distilled water and

tests carried out on separate 20.0 mL samples.

Give two chemical tests and observations that could be used to identify the powders.

The first test should enable the students to identify one of the three powders.
The second test should enable the students to identify one of the remaining two powders.

/ é’?ﬁ% &’%: iﬂfj? on.A @i/g / (6?/ é&/ﬂ%}ﬂéﬁf ...

(7 marks)

Test 1

Ny Hilay,

Observations
Whate sihel s
/{)‘7/7 bbles of %’%7 G

éi

Sodium Carbonate

Sodium chloride
/MH po colief plisS My e
- (it 8 Tk
Sodium Nitrate

Wiite Shet i/ (dhver

", o BB
ity Slpntrea

&
e
ra

£

Test 2

Observations (remaining two powders)

Powder 1 5 9 Al bt ﬁé’e (o 1ele

W ki sncn e 4
Ol eef oledS? hoes ol g ﬁﬁ pdoit

Powder2  Sodlitrun /b hate

W hive Sl o His Sres

N

5 74/?‘«&{4%5!2 ﬁng Lot on <m TE ol ytnclasts

ok | Sma pde

w% 5%?%5;/6 w.l ﬁ/é?ﬁ ﬁﬁw@ff’ “hd

[ﬂ i ﬂié iLé’ @';%/Eﬁ_ / Wﬂ/ﬁég / ﬂ/r/ép i/’l,ﬂ /’Mw/w ﬁ/ b

et i}jﬁ"“ - e Ui

7/

L ff f;%f fggfé E
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b)  Calculate the number of moles of sodium carbonate in the 20.0 mL sample.

, w 2 / (2 marks)
p /,//r(, ({[/ ) /N ‘) (fi//f/ - //423 = /?:7 Gt IO f ;"—’5"\ :/ﬂﬁ/ f///mx/
' o544 /
/i'i/flii / é.’ t] Werg 1k /ﬁ?ﬂ/*"‘ l ' A \./ P

, v, ) & — -2
alr m_ 2wl we have '”’T X and © ff) ZXp ./f'fﬁ?“/

c) Calculate the concentration of the sodium carbonate in the 100 mL sample. (1 mark)

s Yy - ﬂﬂ/i‘g/ = 018G milt”

rf/r/, o

Sodium chloride solution can be made by reacting sodium hydroxide and hydrochloric acid.

d)  Calculate the minimum volume of 2.00 mol L™" hydrochloric acid required to produce
2.00 g of sodium chloride. (3 marks)

U+ Naok - Nad + o

. //((/;*’Vai?( / = / 7 o« / v

W [W0ll) = irgrpi) = II7V L sef &
W/ = 00371] = J7Imk ok T
L /¢ 7
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Question 39 (10 marks)

As the human race seeks to reduce its reliance on fossil fuels, the importance of discovering
alternative fuels, and new ways of producing fuels, becomes ever more important. Methanol
(CH3OH) is one such alternative fuel, and plays a number of important roles in replacing fossil
fuels: it can be mixed with petrol; it can be converted into diesel; and it can be used in the
production of biodiesel.

Methanol can be made from carbon monoxide and hydrogen. Currently, the most commonly
used method of producing the carbon monoxide and hydrogen is called steam reforming, and
involves the reaction of methane (from natural gas) and steam according to the following
equation:

2 CH4(g) + 3 H0(g) > CO(g) + COx(g) + 7H2(Q)
The carbon monoxide and hydrogen then react to produce methanol according to the following
equation:

CO(g) + 2Hz(g) - CHsOH(g)

10 kg of carbon monoxide are mixed with 10,000 L of hydrogen gas at STP.

(a) Find the limiting reactant. (using the second equation) (;Qmarks)
\ /0, vov . |
’L/ ¢ O/j 77?;%&7&@ e 0:7 / o

/0;0%2/

v
n{in) = Vgt = " var = 4o il / -

257 nel o (0 yeguier 20357l = T/ wf .

/’///ffﬁ*//ﬁ we f,bj;i/;; %@xﬁ l/,[/(? ,5’?46/ Q@a /7:3 A [,/? /

{2/
(b) What is the maximum mass of methanol that can be formed? ’ },Z/ marks)
n / e, é}ﬁxﬁfé / = /ﬁ%f/ /4 f%»/ = 770 ;vz/L/ s
! 4 I

I

Jn / fz/;af{i @w/ /
( /
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n s M= 920 xfiorsyeon il
\ Y1 oelty /
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(c) How many moles of unreacted gas remain at the end of the reaction? (2 marks)
/ / () [ /,/ A f’/ = Z V4l / /"/ﬁ'_.'f:‘ ) = (/)k/‘(‘) e ,,/ /
= o/

), : Y S
/l /(‘ (’7 'j /"vv‘/ *r / N A /// = g > '7// - /z "’] (‘) ¥ /,:) ’I\’JV /"1’. L4 f/ =
¥ ; '

Although the heat produced by the reactions, described on the previous page, can be used to
generate the electricity needed for the process, more sustainable methods of production are
sought. A team of researchers at the University of Texas have developed a new method of
producing methanol that involves using copper(ll) oxide nanowires coated in copper(l) oxide
and submerged in a solution containing carbon dioxide. When subjected to sunlight, the carbon
dioxide is converted to methanol whilst avoiding the excess energy input.

(d) By considering the reactions outlined above, give two ways in which this new method of

production may help the environment. (2 marks)
/) /' / o/ / . j ) . /0
//:"/ i, LUV / LN () wey po VoY ol &/\ ]y
) ) J AN,
| ' /1 >, y 7 /t/ (;', 7 Y/ ’ " . (/‘:/ ¢ 2,
/ / Ny /7 / s ~ R 2. s A /
‘/‘/’i’ ", )7) e y 7 ¥ 4 \j { . -,{, " 4 /\l 4 ,/,{,",,\, .’,"’./ J ”7 D A(///J } VA / g NYon i ’;f 4 '1//
/ / 7/
I~ 1 4 / ) '/ ) 1 . Y (4
fo sher oo Matenals [ife 4] (2q0.veq
v ( 27
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Question 40 (12 marks)

Although petrol is made up predominantly of alkanes with between seven and eleven carbon
atoms, these are often combined with additives to improve performance.

An additive used to prevent knocking (an effect caused by uncontrolled combustion in the

cylinders of a combustion engine) was analysed by burning it in excess oxygen and collecting

the gases formed. The additive contained carbon, hydrogen and oxygen, and it was found that
/},@472/ a i%zdlfg sample of the anti-knocking additive produced 31.16 g of carbon dioxide and}(%‘g of

water upon combustion. 637 o
(4

(a) Find the empirical formula of the anti-knocking additive. Show clear working.

, (7 marks)
‘ 3 ' 2/6 . o
/4/ - %/ (0,) = o = 0705 wmf )

n//// Dr nftsp)

,@\/N AR
/A/M = D 70F v [00f

I (/@/ : (2074 - 550 — 0-7/7

wlo) « IHalte = 093 i
t/ -

’ 4 D
6700 DIn7 5274
2 3z 4V
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Subsequent analysis of the anti-knocking additive involved taking another 6:08 g sample and

heating it in the absence of oxygen to vaporise it. It was found that the vapours occupied 2.00 L
at STP.

(b) Find the molecular formula of the anti-knocking additive. Show clear working.
(3 marks)

/
/4 < ) / ” ' 7 )
/,// ,/ // {/ /g/\("// ? \/~/ /7/)( // /// //
/) o
P / /v 7
N 7 i v £/ v
D 2 ! { 4 ! ,"’/"7
‘) y \ P \’ / y
= 4 Eri = (y 7, 0,
[
//u‘_‘{v ‘
(c) The melting point of the additive is 78 C°. Relate this value to its possible \lan-derWaals—
forces
(2 mark)
V , ) 4 J ]
! AA-\07, /,/A s TWINL g ) %y A A nr s,
// ’_, )} /_/( ” , /3 V48 ( A 'IX /, (/3\,:) //(/\ {/ ¥ l{//"‘/\”
]

relatnely show I

/ -/ ) P ) /) Y ', i s
%// No S /// : / / Smee 1 (O tdmg ( ] wd H| v

/ 3 y d ) '/'!t /
Bonus question: What colour is the All Blacks rugby jumper? }f’}“‘v* + (7919 .

NEW ZEALAND
ALL BLACKS

End of paper
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